

Shoppers Telling Shoppers Loyalty Program

When you tell consumers about the great value and convenience of our My Harvest America and they in turn, join as subscribers; the enrolling shopper will be rewarded with cash rewards! The income you earn can be used anywhere in the United States. The number of shoppers you enroll as subscribers to our National Home Delivery Service determines your reward; it's unlimited in the amount of rewards you can earn.

But Wait, It Gets Better!

Our "Shoppers Telling Shoppers" loyalty program can expand beyond your personally enrolled subscribers. Any subscriber that you enroll can also join our Shoppers Telling Shoppers loyalty program and enroll subscribers too. When that happens, you have the potential to earn rewards up to beyond 8 levels of referred Shoppers.

Essentially, your rewards are only limited by your efforts and the growth of your "Shoppers Team". Imagine, making money by telling people where to grocery shop, will your local grocer pay you for referring shoppers? Of course not!

Here is how your Shoppers Team can Grow and Grow!

Earn Commissions from all subscription orders placed in your 3 x 8 Shoppers Team that forms a Matrix. To qualify to receive Matrix Commissions, you must have enrolled as a Shopper or Super Shopper and be on a Monthly Subscription and have at least one (1) Personally Sponsored Shopper or Retail subscriber on a monthly subscription.

Example

As people join your business, they are automatically placed into various levels of your Shoppers Team. The My Harvest America computer builds your Team from top to bottom, left to right.

Every person in your business, including yourself, has (3) three "legs" or shoppers who are "Front Line" to them. This structure forms a "Matrix" of up to 9,840 subscribers who comprise 8 Levels.

Automatic Fill Matrix top to bottom, left to right, with placement options that retains sponsorship.

The 50% Shopper Matching Bonus - \$29.95/mo. Subscription to the Grocery Shopper Program

Earn a 10% matching bonus on your Personally Sponsored Shoppers and on their Personally Sponsored Shoppers and so on through 5 generations of sponsorship deep and unlimited width for a total of 50% match. Each Personal Enrollment needs to be Qualified and Active in order to be counted. To qualify, all you need is to be on the monthly Shopper Subscription and have at least Two (2) Personally Sponsored Shopper on a monthly subscription.

The 100% Super Shopper Matching Bonus - \$49.95/mo. Subscription to the Benefits Program

Subscription to the Benefits Program Earn a 20% matching bonus on your Personally Sponsored Super Shoppers and on their Personally Sponsored Super Shoppers and so on through 5 generations of sponsorship deep and unlimited width for a total of 100% match. Each Personal Enrollment needs to be Qualified and Active in order to be counted. To qualify, all you need is to be on the monthly Super Shopper Subscription and have at least Two (2) Personally Sponsored Shopper on a monthly subscription.

Note: Super Shoppers participate in both the Shopper and Super Shoppers Subscriptions (\$29.95 + \$49.95 = \$79.90/mo.) may earn commissions in both the Shopper and Super Shoppers matrices as long as they are active and qualified in each matrix.

Enjoy Retail Subscriber Income!

When you enroll retail subscribers who do not join the Loyalty program, you and your upline Shoppers will enjoy residual income from their monthly \$39.95 Shopper subscription grocery delivery service fee and \$99.90 Super Shopper for both the grocery delivery service subscription fee and benefits package program. You can have unlimited retail subscribers, they never take a position in the matrix to hold back a valuable position. You get paid \$10 per month on all personal retail Shopper subscribers and \$20 per month on all personal retail Super Shopper subscribers, plus regular upline commissions are paid.

Summary

And the best part is... there's practically NO LIMIT to the number of Matching Bonus Checks you can have! In addition to the amount of money you earn on your own 3 x 8 Matrix this is like earning 50% - 100% on potentially thousands of 3 x 8 Matrices AND extending your earning power beyond the 8th Level of your Matrix organization as long as you continue to Personally Sponsor new Shoppers.

Matrix Placement: If a member joins as a Shopper, they will also be placed in the Super Shopper Matrix as a non-paid position. They can upgrade to a Super Shopper at any time and activate that position. If they join as a Super Shopper, they will be placed in both Matrices as paid positions Matrix Placement: If a member joins as a Shopper, they will also be placed in the Super Shopper Matrix as a non-paid position. They can upgrade to a Super Shopper at any time and activate that position. If they join as a Super Shopper, they will be placed in both Matrices as paid positions.

Details

Package 1 - Grocery Program (Shopper) - \$69.90

Shopper - \$29.95/mo. (Retail price is \$39.95 per month)

Join with \$29.95 subscription each month and a yearly \$39.95 administration fee.

3 X 8 Forced Matrix

Potential Monthly Earnings of up to \$19,560 from your own 3x8 Matrix, and a 50% Match of up to \$9,780 (10% of up to \$1,978 per Representative though 5 Generations of Sponsorship) Unlimited Width and 5 Generations Deep of Sponsorship

50% Shopper Matching Bonus: 10% matching bonus on all of your Personally sponsored Shoppers and on their Personally sponsored shoppers and so on through 5 levels of depth and unlimited width for a total of 50% match.

To be qualified to earn commissions, you must be Active each month as a paid Subscriber for \$29.95 and sponsor 1 active Shopper Subscriber that is also Active each month. (Active means being on a Monthly Subscription for \$29.95).

3 X 8 Forced Matrix		
Team Level	$ \begin{array}{c} \text{Shoppers} \\ \text{X} \\ \text{Pay Per Level} \end{array} = \begin{array}{c} \text{Commissions} \\ \text{Per Level} \end{array} $	Total Commission
1	3 x \$1 = \$3	\$3
2	9 x \$1 = \$9	\$12
3	27 x \$1 = \$27	\$39
4	81 x \$1 = \$81	\$120
5	243 x \$2 = \$486	\$606
6	729 x \$2 = \$1458	\$2,064
7	2187 x \$2 = \$4,374	\$6,438
8	6561 x \$2 = \$13,122	\$19,560

Potential Monthly Earning of up to \$19,560 from your own 3x8 Matrix, and a 50% Match of up to \$9.780. Paid Out (10% of up to \$1,978 per Representative through 5 Generations of Sponsorship) Unlimited Width and 5 generations deep of Sponsorship.

<u>Package 2 – Grocery & Benefits Program (Super Shopper)</u> – For Both Subscriptions and Matrices - \$119.85

Super Shopper - \$79.90/mo. (\$29.95 Grocery + \$49.95 Benefits = \$79.90)

Includes Both Subscriptions and Matrices

Join with \$79.90 subscription each month and a yearly \$39.95 administration fee. (\$29.95 Shopper + \$49.95 Super Shopper = \$79.90/mo. Plus \$39.95 = \$119.85)

\$49.95 Super Shopper Subscription

3 X 8 Forced Matrix

Potential Monthly Earnings of up to \$28,416 from your own 3x8 Matrix and a 100% Match of up to \$28,416 Paid Out on Each of your Personally Sponsored Super Shoppers. (20% of up to \$5683.20 per Representative though 5 Generations of Sponsorship)

To be qualified to earn commissions, you must be Active each month and sponsor 1 Super Shopper subscriber that is also Active each month. (Active means being on a Monthly Subscription).

3 X 8 Forced Matrix			
Team Level	$\begin{array}{c} \text{Super} \\ \text{Shoppers} \\ \text{X} \end{array} = \begin{array}{c} \text{Commissions} \\ \text{Per Level} \end{array}$	Total Commission	
1	3 x \$1 = \$3	\$3	
2	9 x \$1 = \$9	\$12	
3	27 x \$2 = \$54	\$66	
4	81 x \$2 = \$162	\$228	
5	243 x \$2 = \$486	\$714	
6	729 x \$2 = \$1,458	\$2,172	
7	2187 x \$3 = \$6,561	\$8,733	
8	6561 x \$3 = \$19,683	\$28,416	

Potential Monthly Earning \$28,416 from your own 3x8 Matrix, and a 100% Match of up to \$28,416. Paid Out (20% of up to \$5,683.20 per Representative through 5 generations of Sponsorship)
Unlimited Width and 5 generations deep of Sponsorship.

The Super Shopper Upgrade Package will be \$49.95 and \$79.90/mo. Auto- Subscription for both Matrices,

Income Disclaimer:

These charts are a hypothetical example intended to explain the My Harvest America Commission Plan. They are not representatives of the income, if any, that a Member can or will earn through his or her participation in My Harvest America. These figures should not be considered as guarantees or projections of your actual earnings or profits. Any representation or guarantee of earnings, whether made by My Harvest America or a Member, would be misleading. Success with My Harvest America results only from successful sales efforts, which require hard work, diligence, and leadership. Your success will depend upon how effectively you exercise these qualities.